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24th July 2016, 12:00 PM
Topic:­ General and Logical Knowledge
1)

Question Stimulus :­

Six people A, B, C, D, E and F are sitting on the ground in a hexagonal shape. All the sides
of the hexagon so formed are of same length. A is not adjacent to B or C ;D is not adjacent
to C or E; B and C are adjacent; F is in the middle of D and C. / छः लोग A,B,C,D,E और F ज मीन
पर षटक्ोणीय आकर मᘮĀ बठैे ह।ै षटक्ोण के  सभी बाजओु ंकी लबंाई एक समान ह।ै B या C के बगल मᘮĀ A नही ंह ै; C या E
के बगल मᘮĀ D नही ंह;ै B और C बगल मᘮĀ ह阮Ā ; D और C के बीच F ह।ै         

 

Which of the following is in the right sequence? / िन쫳Ā मᘮĀ स ेकौन सा 樱Āम सही ह?ै

A,F,B

F,A,E

B,C,F

D,A,B

Correct Answer :­B,C,F 

2)

Question Stimulus :­

INSAT Master Control Facility is located at: / 'इनसटै' म졋ुĀ िनयंĀण सिुवधा __मᘮĀ Ā슄Ȁथत ह।ै

Hassan / हसन

Thumba / थुĀा

Ahmedabad / अहमदाबाद

Cochin / कोचीन

Correct Answer :­Hassan / हसन 

3)

Question Stimulus :­



In the following question, four words are given, out of which three are same in certain
way and the remaining one is different. Find out the different one. / िन쫳Ā 䐴Ā吟Ȁ मᘮĀ, चार शĀ िदये
गय ेह阮Ā, िजनमᘮĀ स ेतीन िकसी 䐴Āकार स ेसमान ह阮Ā और बाकी एक अलग ह|ै अलग वाला ṢĀात कीिजय|े

Bowl / कटोरा

Spoon / चĀच

Tumbler / िगलास

Bouquet / गलुद捀 ा

Correct Answer :­Bouquet / गलुद捀 ा 

4)

Question Stimulus :­

The minimum age for a person to be the President of India is / भारत के रा訪Ȁ縭Āपित होन ेके िलए एक 帘ȀĀ칀Ā की 삾Āनूतम उ됴Ā
होनी चािहए

18 years / 18  वष㸭Ā

21 years/  21 वष㸭Ā

25 years /  25 वष㸭Ā

35 years / 35 वष㸭Ā

Correct Answer :­35 years / 35 वष㸭Ā 

5)

Question Stimulus :­

Select the option, which is the logical equivalent of the statement given below: / वह िवक∍Ȁ चिुनए,जो तक㸭Ā की 㙢Ȁि訪Ȁ
स ेनीच ेिदए गए कथन के समान ह ै:

If the day is bright Tuesday then we will play cricket. / यिद िदन धपू स ेĀखला Āआ मगंलवार होगा
तो हम ि樱Āकेट खलेᘮĀग।े

If the day is Tuesday we will play cricket as Tuesdays are normally bright. / यिद िदन
मगंलवार होगा तो हम ि樱Āकेट खलेᘮĀग ेचूंिक मगंलवार आम तौर पर धपू स ेĀखला Āआ होता ह।ै

If it is not Tuesday then it is not bright so we will not play cricket. / यिद मगंलवार नही ंहै
तो धपू Āखली Āई नही ंहोगी इसिलए हम ि樱Āकेट नही ंखलेᘮĀग।े

If we do not play cricket then it is neither Tuesday nor a bright day. / यिद हम ि樱Āकेट
नही ंखलेत ेह阮Ā तो न तो मगंलवार ह ैन ही धपू स ेĀखला Āआ िदन ह।ै



If the Tuesday is not bright then it is not wise to play cricket. / यिद मगंलवार धपू स ेĀखला
Āआ नही ंह ैतो ि樱Āकेट खलेना सही नही ंह।ै

Correct Answer :­If we do not play cricket then it is neither Tuesday nor a bright day.
/ यिद हम ि樱Āकेट नही ंखलेत ेह阮Ā तो न तो मगंलवार ह ैन ही धपू स ेĀखला Āआ िदन ह।ै 

6)

Question Stimulus :­

Select the option, which is the logical equivalent of the statement given below: / वह िवक∍Ȁ
 चिुनए, जो तक㸭Ā की 㙢Ȁि訪Ȁ स ेनीच ेिदए गए कथन के समान ह:ै

If the car is new then Raj will not go to the village. / यिद कार नई ह ैतो राज गावँ नही ंजाएगा।

If the car is old then Raj will go to the village. / यिद कार परुानी ह ैतो राज गावँ जाएगा।

If Raj goes to the village then the car is not new. / यिद राज गावँ जाता ह ैतो कार नई नही ंह।ै

If Raj goes to the town then the car is new. / यिद राज शहर जाता ह ैतो कार नई ह।ै

If the car is new then Raj will do to the town. / यिद कार नई ह ैतो राज शहर जाएगा।

Correct Answer :­If Raj goes to the village then the car is not new. / यिद राज गावँ जाता है
तो कार नई नही ंह।ै 

7)

Question Stimulus :­

If the direcĕon north is to your le├, which direcĕon are you heading in? / यिद िदशा उ窅Āर आपके बाएं हाथ पर ह,ै त◌ो
आप िकस िदशा मᘮĀ बढ़ रह ेह阮Ā?

North / उ窅Āर

South / दिꉈĀण

East / परूब

West / पिȀम

Correct Answer :­East / परूब 

8)

Question Stimulus :­

The first month of the National Calendar in India is / भारत के रा訪Ȁ縭Āीय कैलᘮĀडर का पहला महीना है

Shravana / Āावण



Phalguna / फाဆȀनु

Karthika / काित㸭Āक

Chaitra / चĀ

Correct Answer :­Chaitra / चĀ 

9)

Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह िवक∍Ȁ चिुनए
जो िदए गए कथनो ंएव ंिन爩Ȁष砯Ā के बारे मᘮĀ सही ह:ै

Statements: / कथन:

Some pebbles are stones / कुछ कंकड़ पꪅĀर ह阮Ā

Some stones are rocks / कुछ पꪅĀर च㙧ĀानᘮĀ ह阮Ā

Conclusions: / िन爩Ȁष㸭Ā:

I. Some rocks are not stones / I. कुछ च㙧ĀानᘮĀ पꪅĀर नही ंह阮Ā

II. Some stones are pebbles / II.  कुछ पꪅĀर कंकड़ ह阮Ā

Only conclusion I follows / केवल िन爩Ȁष㸭Ā I िनकलता है

Only conclusion II follows / केवल िन爩Ȁष㸭Ā II िनकलता है

Both conclusion I and II follows / दोनो ंिन爩Ȁष㸭Ā I और II िनकलत ेह阮Ā

None of the conclusion I or II follows / िन爩Ȁष㸭Ā I या II मᘮĀ स ेकोई नही ंिनकलता है

Correct Answer :­None of the conclusion I or II follows / िन爩Ȁष㸭Ā I या II मᘮĀ स ेकोई नही ंिनकलता ह ै

10)

Question Stimulus :­

In the following question, there is certain relationship between the first two terms. Choose
the fourth term from the following options which has a similar kind of relation with the
third term. / िन쫳Ā 䐴Ā吟Ȁ मᘮĀ, पहल ेतो पदो ंके बीच िकसी 䐴Āकार स ेकोई सबंधं ह|ै िन쫳Ā िवक∍Ȁो ंमᘮĀ स ेचौथा पद चिुनये
िजसका तीसरे पद के साथ उसी 䐴Āकार का सबंधं ह|ै

Obey: Defy :: Work: ? / आṢĀापालन : िवरोध :: काम करना : ?

Lazy / आलसी

Rest / आराम



Idle / खाली

Labour / प숝ĀरĀम

Correct Answer :­Rest / आराम 

11)

Question Stimulus :­

The figure at right represents an unfolded box with designs on several panels. Below are four drawings of boxes with
designs. When folded, which box will it be? / दायी ंओर पर आकृित िविभ㚺Ā पनैलो ंपर िडज़ाइनो ंके साथ िबना तह
िकया एक ब桉Āा िदखाती ह|ै नीच ेिडज़ाइनो ंवाल ेब桉Āो ंकी चार ड縭Āाइगं ेह阮Ā| फो嘉Ȁ करन ेपर, कौन सा ब桉Āा होगा?

Correct Answer :­  

12)

Question Stimulus :­

‘Accommodation’ is related ‘rent’ in the same as ‘journey’ is related to / ‘आवास’ सबंिंधत है
‘िकराय’े स ेउसी 䐴Āकार स ेिजस तरह ‘याĀा’ सबंिंधत ह ैइससे

Luggage / सामान

Expenses / खच䘮Ā



Tax / कर

Fare / िकराया

Correct Answer :­Fare / िकराया 

13)

Question Stimulus :­

Which of the following districts does NOT belong to Chambal division? / िन쫳ĀिलĀखत िजलो ंमᘮĀ स ेकौन सा िजला
चबंल सभंाग का नही ंह?ै

Morena / मोरेना

Bhind / िभडं

Sheopur / शओेपरु

Datia / दितया

Correct Answer :­Datia / दितया 

14)

Question Stimulus :­

Which one of the following constitutional amendments gives constitutional status to the Panchayat Raj institution?
/ िन쫳Ā मᘮĀ स ेकौन सा सवंधैािनक सशंोधन पचंायत राज स슄ंȀथान को सािंवधािनक दजा㸭Ā दतेा ह?ै

72nd / 72 वां

73rd / 73 वां

74th / 74 वां

75th / 75 वां

Correct Answer :­73rd / 73 वा ं

15)

Question Stimulus :­

Who was known as the “Missile Man of India”? / “भारत का िमसाइल मनै” िकस ेकहा जाता था?

Vikram Sarabhai / िव樱Āम साराभाई

K Radhakrishnan / के राधाकृषण्न



Abdul Kalam / अबद्लु कलाम

Homi Baba / होमी भाभा

Correct Answer :­Abdul Kalam / अबद्लु कलाम 

16)

Question Stimulus :­

The train Vivek Express starts from Dirugarh in Assam. Which is its last stop? / िववके ए桉Ā䐴Āसे रेलगाड़ी असम
के िड簴Āगूढ़ स ेश搰ुĀ होती ह।ै इसका अिंतम पड़ाव ᱆Āा ह?ै

Madurai / मदरुई

Mumbai / मुंबई

Udhampur / उधमपरु

Kanyakumari / क삾Āाकुमारी

Correct Answer :­Kanyakumari / क삾Āाकुमारी 

17)

Question Stimulus :­

A team of five is to be selected from amongst five boys (A, B, C, D and E) and four girls
(P,Q,R and S). Some criteria for selection are: / पाचँ लड़को(ंA,B,C,D,और E) और चार
लड़िकयो(ंP,Q,R,और S) मᘮĀ स ेपाचँ लोगो ंकी एक टीम का चयन करना ह।ै चयन की कसौटी ह阮Ā:

 

A and S have to be together. / A और S साथ होन ेचािहए।

P cannot be put with R. / P को R के साथ नही ंरखा जा सकता।

D and Q cannot go together. / D और Q एक साथ नही ंजा सकत।े

C and E have to be together. / C और E एक ही साथ होन ेचािहए।

R cannot be put with B. / R को B के साथ नही ंरखा जा सकता।

 

If two of the members are girls and D is one of the members, the members of the team
other than D are / अगर टीम की दो सद䡁Ȁा ल ड़िकया ँहोगंी और D उनमᘮĀ स ेएक होगा, तो D के अित숝Āर칀Ā टीम के
सद䡁Ȁ होगंे

P,Q,B,C

P,Q,C,E



P,S,A,B

P,S,C,E

Correct Answer :­P,S,A,B 

18)

Question Stimulus :­

C V Raman was awarded the Nobel Prize for his work in: / सी वी रमन को इस ꉈĀेĀ मᘮĀ  अपन ेकाय㸭Ā के
िलए नोबले परु젮Ȁार स ेसĀािनत िकया गया था:

Chemistry / रसायन

Physics / भौितकी

Biology / जीविवṢĀान

Economics / अथ㸭Āशा꠵Ȁ

Correct Answer :­Physics / भौितकी 

19)

Question Stimulus :­

Gond Fort is located at_______. / गोडं िकला______मᘮĀ Ā슄Ȁथत ह।ै

Khor / खोर

Baldeo Kundi / बलदवे कु桿Āी

Joga / जोगा

Deogarh / दवेगढ़

Correct Answer :­Deogarh / दवेगढ़ 

20)

Question Stimulus :­

Who established the Arya Samaj? / आय㸭Ā समाज की 슄Ȁथापना िकसन ेकी?

Raja Ram Mohan Roy / राजा राम मोहन रॉय

Madan Mohan Malaviya / मदन मोहन मालवीय



Swami Dayananda Saraswati / Ȁामी दयानदं सरȀती

MG Ranade / एमजी रानाडे

Correct Answer :­Swami Dayananda Saraswati / Ȁामी दयानदं सरȀती 

21)

Question Stimulus :­

Ajanta caves is located at / अजतंा की गफुाएं यहा ँĀ슄Ȁथत ह阮Ā:

Gujarat / गजुरात

Punjab / पजंाब

Haryana / ह숝Āरयाणा

Maharashtra / महारा訪Ȁ縭Ā

Correct Answer :­Maharashtra / महारा訪Ȁ縭Ā 

22)

Question Stimulus :­

Which one of the following is the highest gravity dam in the world? / िन쫳Ā मᘮĀ स ेकौन सा दिुनया मᘮĀ सबस े쩤Āादा
ग㨰ुĀĀाकष㸭Āण वाला बाधं ह?ै

Beas Dam / 껥Āास बाधं

Bhakra Dam / भाखड़ा बाधं

Hirakud / हीराकुंड

Nagarjuna Sagar Dam / नागाज㸭ुĀन सागर बाधं

Correct Answer :­Bhakra Dam / भाखड़ा बाधं 

23)

Question Stimulus :­

In the following question arrange the given words in a meaningful sequence and then
choose the most appropriate sequence from among the alternatives provided below: /
िन쫳ĀिलĀखत 䐴Ā吟Ȁ मᘮĀ एक साथ㸭Āक 樱Āम मᘮĀ शĀो ंकी 帘Ȁव슄Ȁथा करᘮĀ और उसके बाद नीच ेिदए गए िवक∍Ȁो ंमᘮĀ स ेसबस ेउपय칀ुĀ
अन樱ुĀम का चयन करᘮĀ:

1. Reading 2. Composing 3. Writing 4. Printing

1. पढ़ना 2. रचना 3. िलखना  4.छपाई



1,3,2,4

2,3,4,1

3,1,2,4

3,2,4,1

Correct Answer :­3,2,4,1 

24)

Question Stimulus :­

If shoe means soul, and it’s not soul, then it’s shoe. / यिद जतू ेका मतलब आ낊Āा ह,ै और यह आ낊Āा
नही ंह,ै तो यह जतूा ह।ै

True / सही

False / गलत

May be / हो सकता है

Irrelevant / अ䐴Āासिंगक

Correct Answer :­False / गलत 

25)

Question Stimulus :­

Which place is called ‘Blue City’ of India? / कौन सी जगह को भारत की '뻥Ā ूिसटी' कहा जाता ह?ै

Patiala / पिटयाला

Jaipur / जयपरु

Udaipur / उदयपरु

Jodhpur / जोधपरु

Correct Answer :­Jodhpur / जोधपरु 

26)

Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह िवक∍Ȁ चिुनए
जो िदए गए कथनो ंएव ंिन爩Ȁष砯Ā के बारे मᘮĀ सही ह:ै



Statements: / कथन:

No chain is ring / कोई चने अगंठूी नही ंहै

All rings are bangles / सभी अगंिूठया ंचिूड़या ंह阮Ā

Conclusions: / िन爩Ȁष㸭Ā:

I. Some bangles are rings / I. कुछ चिूड़या ँअगंठूी ह阮Ā

II. Some chains are bangles / II.  कुछ चने चिूड़या ंह阮Ā

Only conclusion I follows / केवल िन爩Ȁष㸭Ā I िनकलता है

Only conclusion II follows / केवल िन爩Ȁष㸭Ā II िनकलता है

Both conclusion I and II follows / दोनो ंिन爩Ȁष㸭Ā I और II िनकलत ेह阮Ā

None of the conclusion I or II follows / िन爩Ȁष㸭Ā I या II मᘮĀ स ेकोई नही ंिनकलता है

Correct Answer :­Only conclusion I follows / केवल िन爩Ȁष㸭Ā I िनकलता ह ै

27)

Question Stimulus :­

How many numbers immediately follow a letter in the following sequence? / िन쫳Ā अन樱ुĀम मᘮĀ, िकतनी स졋ंĀाएँ ऐसी ह阮Ā जो
एक अꉈĀर के तरुंत बाद ह阮Ā?

?Q>2*H4&KP9?#YS36W^T1N@5GB8<+$EZLR7

7

6

5

4

Correct Answer :­6 

28)

Question Stimulus :­

A courier agent has to deliver post in 3 streets. Each street has 5 houses. He takes 2 min to
deliver letter in each house and 5min to travel between each house in each street. He takes
20 min to go to the next street. His day starts at 10 AM and finishes off by 3 PM, with no
break in between.  / एक कू숝Āरयर एजᘮĀट को 3 गिलयो ंमᘮĀ डाक दनेा ह।ै 䐴Ā᲋Āके गली मᘮĀ 5 घर ह阮Ā। वो एक डाक दने ेमᘮĀ 2
िमनट लतेा ह ैऔर हर गली के हर घर मᘮĀ जान ेमᘮĀ 5 िमनट लतेा ह।ै वो अगली गली मᘮĀ जान ेमᘮĀ 20 िमनट लतेा ह।ै उसका िदन
सबुह 10 बज ेश搰ुĀ होता ह ैऔर दोपहर 3 बज ेख़낊Ā होता ह।ै वह इस बीच कोई िवराम नही ंलतेा।



If he can skip one of the streets, but has to deliver to all houses in other street, what is the earliest ĕme he can finish
all the streets in a working day? / यिद वह एक गली छोड़ सकता ह ैपर िफर भी अ삾Ā गली मᘮĀ सारे घरो ंमᘮĀ उस ेपĀ पĀचंान ेह阮Ā,
तो एक काय㸭Ā िदवस मᘮĀ िकस समय वह ज�Ȁी स ेज�Ȁी सारी गिलयो ंमᘮĀ घरो ंमᘮĀ पĀ पĀचँा सकता ह?ै

11.50AM / सबुह 11.50 बजे

11:20AM / सबुह 11:20 बजे

11:10AM / सबुह 11:10 बजे

12:20 PM / दोपहर 12:20 बजे

Correct Answer :­11:20AM / सबुह 11:20 बज े

29)

Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह िवक∍Ȁ चिुनए
जो िदए गए कथनो ंएव ंिन爩Ȁष砯Ā के बारे मᘮĀ सही ह।ै

Statements: / कथन:

Some frogs are fishes / कुछ मᘮĀढ़क मछिलया ंह阮Ā

Some frogs are reptiles / कुछ मᘮĀढ़क सरीसपृ ह阮Ā

Conclusions: / िन爩Ȁष㸭Ā:

I. Some reptiles are fishes / I. कुछ सरीसपृ मछिलया ंह阮Ā

II. All reptiles are fishes / II. सभी सरीसपृ मछिलया ंह阮Ā

Only conclusion I follows / केवल िन爩Ȁष㸭Ā I िनकलता है

Only conclusion II follows / केवल िन爩Ȁष㸭Ā II िनकलता है

Both conclusion I and II follows / दोनो ंिन爩Ȁष㸭Ā I और II िनकलत ेह阮Ā

None of the conclusion I or II follows / िन爩Ȁष㸭Ā I या II मᘮĀ स ेकोई नही ंिनकलता है

Correct Answer :­None of the conclusion I or II follows / िन爩Ȁष㸭Ā I या II मᘮĀ स ेकोई नही ंिनकलता ह ै

30)

Question Stimulus :­

Headquarters of National Institute of Hydrology is situated in ___. / जल िवṢĀान का रा訪Ȁ縭Āीय स슄ंȀथान का म졋ुĀालय
____मᘮĀ Ā슄Ȁथत ह।ै

Belgaum / बलेगाम



Roorkee / 㨰Āड़की

Kakinada / काकीनाडा

Bhopal / भोपाल

Correct Answer :­Roorkee / 㨰Āड़की 

31)

Question Stimulus :­

________ is the largest city and commercial centre of Malwa region of Madhya Pradesh / ________, म㲥Ā 䐴Āदशे के
मालवा ꉈĀेĀ का सबस ेबड़ा शहर एव ंवािणĀ쩤Āक कᘮĀ帳Ā है

Bhopal / भोपाल

Indore / इदंौर

Ujjain / उᩡĀनै

Jabalpur / जबलपरु

Correct Answer :­Indore / इदंौर 

32)

Question Stimulus :­

Who founded the Satavahana dynasty? / सातवाहन राजवशं की 슄Ȁथापना िकसन ेकी थी?

Kalidasa / कालीदास

Kanishka / किन爩Ȁ

Ashvaghosha / अ≠ घोष

Simukha / िसमखु

Correct Answer :­Simukha / िसमखु 

33)

Question Stimulus :­

Which dam in Madhya Pradesh holds the largest reservoir in India? / म㲥Ā 䐴Āदशे मᘮĀ कौन सा बाधं भारत मᘮĀ सबस ेबड़ा
जलाशय रखता ह?ै

Tawa Dam / तवा बाधं



Indirasagar Dam  / इिंदरा सागर बाधं

Maan Dam / मान बाधं

Maheshwar Dam / मह≠े र बाधं

Correct Answer :­Indirasagar Dam  / इिंदरा सागर बाधं 

34)

Question Stimulus :­

Ozone layer shields earth from _____. / ओजोन परत प쒒ृĀी की _____स ेरꉈĀा करती ह।ै

Ultra Violet Rays / पराब阮Āगनी िकरणों

X Rays / ए桉Ā िकरणों

Infrared Radiation / अवर칀Ā िविकरण

Alpha Rays / अ對Ȁा िकरणों

Correct Answer :­Ultra Violet Rays / पराब阮Āगनी िकरणो ं

35)

Question Stimulus :­

Anil told Sally, “The girl I met at the hotel was the youngest daughter of brother­in­law
of my friend’s mother.” How is the girl related to Anil’s friend? / अिनल न ेसलैी को बाताया,
“वह लड़की िजसस ेम阮Ā होटल मᘮĀ िमला था, वह मरेी दो捀  की माता के दवेर की सबस ेछोटी बटेी ह।ै” लड़की अिनल के
दो捀  स ेकैस ेसबंिंधत ह?ै

Cousin / चचरेी बहन

Mother / माता

Grandmother / दादी

Granddaughter / पोती

Correct Answer :­Cousin / चचरेी बहन 

36)

Question Stimulus :­

A postman has to deliver post in 4 streets. Each street has 10 houses. He takes 1 min to
deliver letter in each house and 5min to travel between each house in each street. He takes
30 min to go to the next street. His day starts at 9 AM and finishes off by 4 PM, with an



hour of lunch break.  / एक डािकए को 4 गिलयो ंमᘮĀ डाक दनेी ह।ै हर गली मᘮĀ 10 घर ह阮Ā। वह हर घर मᘮĀ डाक दने ेमᘮĀ
एक िमनट लतेा ह ैऔर पाचं िमनट 䐴Ā᲋Āके गली के 䐴Ā᲋Āके घर  के बीच याĀा करन ेमᘮĀ लगाता ह।ै वह 30िमनट अगली गली मᘮĀ
जान ेमᘮĀ लगाता ह।ै उसका िदन सबुह 9बज ेश搰ुĀ होता ह ैऔर 4बज ेख़낊Ā होता ह,ै इस बीच वह 1घĀ ेका दोपहर के भोजन
के िलए समय लतेा ह।ै

If the postman starts at 2:00 PM. Assuming that he does not take the lunch break, how
many houses and streets will he be able to cover by 4:00 PM? / यिद डािकया दोपहर 2बज ेअपना
काम श搰ुĀ करता ह।ै यिद मान लᘮĀ की वह भोजन 簴Āके नही ंलतेा ह ैतो वह 4बज ेतक िकतनी गिलयो ंएव ंिकतन ेघरो ंमᘮĀ पĀ
िवत숝Āरत कर दगेा?

10 houses, 1 street / 10 घर, 1 गली

20 houses, 2 streets / 20 घर, 2 गली

30 houses, 3 streets / 30 घर, 3 गली

40 houses, 4 streets / 40 घर, 4 गली

Correct Answer :­10 houses, 1 street / 10 घर, 1 गली 

37)

Question Stimulus :­

Which Indian has hit the most number of sixes in his Twenty20 international career? / िकस भारतीय न ेअपन े�ĀᘮĀटी
­20 अतंररा訪Ȁ縭Āीय कै숝Āरयर मᘮĀ सवा㸭Āिधक छ︼Ā लगाए ह阮Ā?

Harbhajan Singh / हरभजन िसहं

Kapil Dev / किपल दवे

Yusuf Pathan / यसुफू पठान

Yuvraj Singh / यवुराज िसहं

Correct Answer :­Yuvraj Singh / यवुराज िसहं 

38)

Question Stimulus :­

High Court of Madhya Pradesh has its benches in___________. / म㲥Ā 䐴Āदशे के हाईकोट㸭Ā  की
शाखाएं ___________ मᘮĀ ह阮Ā।

Gwalior and Bhopal / 虘Āािलयर और भोपाल

Bhopal and Indore / भोपाल और इदंौर

Jabalpur and Bhopal / जबलपरु और भोपाल



Indore and Gwalior / इदंौर और 虘Āािलयर

Correct Answer :­Indore and Gwalior / इदंौर और 虘Āािलयर 

39)

Question Stimulus :­

Branches of five banks A,B,C,D and E are as follows: / A,B,C,D और E पाचँ ब阮Āको ंकी शाखाएं िन쫳Ā ह阮Ā :

1. A, B and C are in Indore and Bhopal. / A, B और C इदंौर एव ंभोपाल मᘮĀ ह阮Ā।

2. A, B and E are in Indore and Gwalior / A, B और E इदंौर एव ं虘Āािलयर मᘮĀ ह阮Ā।

3. B, C and D are in Raipur and Bhopal. / B, C और D रायपरु एव ंभोपाल मᘮĀ ह阮Ā।

4. A, E and D are in Gwalior and Jabalpur / A, E और D 虘Āािलयर एव ंजबलपरु मᘮĀ ह阮Ā।

5. C, E and D are in Raipur and Jabalpur / C,E और D रायपरु एव ंजबलपरु मᘮĀ ह阮Ā।

In which city there is NOT any branch of B? / िकस शहर मᘮĀ B की कोई भी शाखा नही ंह?ै

Jabalpur / जबलपरु

Gwalior / 虘Āािलयर

Indore / इदंौर

Bhopal / भोपाल

Correct Answer :­Jabalpur / जबलपरु 

40)

Question Stimulus :­

Select the option, which is the logical equivalent of the statement given below: / वह िवक∍Ȁ चिुनए,जो तक㸭Ā की 㙢Ȁि訪Ȁ
स ेनीच ेिदए गए कथन के समान ह ै:

If the party is over then we will go to home otherwise my mother will get angry. / अगर
पाट쨭Ā खतम हो गयी ह ैतो हम घर चल ेजायᘮĀग ेअ삾Āथा मरेी मा ँनाराज़ हो जायᘮĀगी।

If I do not go home then the party is not over and my mother will get angry. / यिद म阮Ā
घर न जाऊं तो पाट쨭Ā ख़낊Ā नही ंĀई ह ैऔर मरेी मा ँनाराज़ हो जायᘮĀगी।

My mother will get angry if the party is not over soon. / मरेी मा ँनाराज़ हो जायᘮĀगी अगर पाट쨭Ā
ज�Ȁी नही ंख낊Ā Āई।

If the party is not over then we can wait so that my mother will get angry. / अगर
पाट쨭Ā ख़낊Ā नही ंĀई ह ैतो हम इ늪Āजार कर सकत ेह阮Ā तािक मरेी मा ँनाराज़ हो जाए।



If my mother does not get angry then the party is not over but we are at home. /
अगर मरेी मा ँनाराज़ नही ंहोती ह阮Ā तो पाट쨭Ā ख낊Ā नही ंĀई ह ैलिेकन हम घर पर ह阮Ā।

Correct Answer :­If I do not go home then the party is not over and my mother will
get angry. / यिद म阮Ā घर न जाऊं तो पाट쨭Ā ख़낊Ā नही ंĀई ह ैऔर मरेी मा ँनाराज़ हो जायᘮĀगी। 

Topic:­ Mental Ability and Mental Aptitude
1)

Question Stimulus :­

What is the average of prime numbers between 50 and 100? / 50 और 100 के बीच की अ츱Ā
स졋ंĀाओ ंका औसत ᱆Āा ह?ै

73.6

73.4

73.8

73.2

Correct Answer :­73.2 

2)

Question Stimulus :­

What percent of 11.5 kg is 2 kg? / 2िक츱Āा, 11.5 िक츱Āा का िकतना 䐴Āितशत ह?ै

20%

18%

17%

16%

Correct Answer :­17% 

3)

Question Stimulus :­

(6x3) + (42/2)‐(17x3) + (15/3) x 3=?

5

3



6

8

Correct Answer :­3 

4)

Question Stimulus :­

Complete the series choosing the missing number: / िवलⓃुĀ स졋ंĀा चनुकर Āखंला को परूा कीिजए :

2,4,6,8,___

12

9

11

10

Correct Answer :­10 

5)

Question Stimulus :­

An aeroplane covers a certain distance at a speed of 240 km/hr in 5 hours. To cover the same distance in 4 hours, it
must travel at a speed of ? / एक हवाई जहाज िकसी िनिȀत दूरी को 240 िकमी/घटंा की गित स े5 घटं ेमᘮĀ तय करता ह।ै
उतनी ही दूरी को 4 घटं ेमᘮĀ तय करन ेके िलय,े उस ेिकतनी गित स ेयाĀा करनी होगी?

275km/hr / 275 िकमी/घटंा

325km/hr / 325 िकमी/घटंा

280 km/ hr / 280 िकमी/घटंा

300 km/ hr / 300 िकमी/घटंा

Correct Answer :­300 km/ hr / 300 िकमी/घटंा 

6)

Question Stimulus :­

A parking lot can hold 96 cars at a time. At a certain instant it was found that   of the
parking lot was occupied, how many more cars it could accommodate at that time? / एक



पािकꐭĀग लॉट मᘮĀ एकसाथ 96 गािड़या ँआ सकती ह阮Ā| एक िनिȀत समय पर यह पाया गया िक पािकꐭĀग लॉट   का िघरा Āआ था,
उस समय वह िकतनी और कारᘮĀ समायोिजत कर सकता ह?ै

13

12

11

10

Correct Answer :­12 

7)

Question Stimulus :­

Two‐fi├h of one‐fourth of half of a number is 25. What is 45% of that number? / एक स졋ंĀा के आध ेके एक­चौथाई का
दो­पाचंवा भाग 25 ह।ै उस स졋ंĀा का 45% ᱆Āा ह?ै

200

220

230

225

Correct Answer :­225 

8)

Question Stimulus :­

A watch is sold for Rs. 405 at a loss of 10%.Find the cost price of the watch? / एक घड़ी को 10% के नकुसान
पर 405 㨰Āपय ेमᘮĀ बचे िदया जाता ह।ै घड़ी की लागत म刎ूȀ का पता लगाएं?

Rs. 250 / 250 㨰Āपये

Rs. 150 / 150 㨰Āपये

Rs. 450 / 450 㨰Āपये

Rs. 350 / 350 㨰Āपये

Correct Answer :­Rs. 450 / 450 㨰Āपय े

9)



Question Stimulus :­

The below series uses a sequence of alphabets and numbers. Identify the incorrect
combination. / नीच ेदी गई Āखंला अꉈĀरो ंएव ंस졋ंĀाओ ंका अन樱ुĀम 䐴Āयोग करती ह|ै गलत सयंोजन पहचािनय|े

 (i) JH90753276H0                

(ii) JH90758276H0        

(iii) JH90753276H0          

(iv) JH90753276H0

i

ii

iii

iv

Correct Answer :­ii 

10)

Question Stimulus :­

In a simultaneous throw of dice, what is the probability of geħng a total of 6? / दो पास ेएक साथ फᘮĀके गए। ᱆Āा
सभंावना ह ैउन स졋ंĀायᘮĀ आन ेकी िजनका कुल 6 हो?

5/36

1/6

4/9

1/12

Correct Answer :­5/36 

11)

Question Stimulus :­

What is the minimum number of straight lines required to make the following figure? / िन쫳Ā
आकृित को बनान ेके िलय े삾Āनूतम स졋ंĀा मᘮĀ िकतनी सीधी रेखाओ ंकी आव㈢Ȁकता होगी?



6

8

10

14

Correct Answer :­10 

12)

Question Stimulus :­

Raghav buys a Nehru coat in Khadi Bhandar whose marked price is Rs. 150.If the discount allowed is
20%, find the discount amount? / राघव खादी भडंार स ेएक नहे搰Ā जकैेट खरीदता ह ैिजसकी िचि剆Ȁत कीमत 150
㨰Āपय ेह,ै यिद उसप े20% की छूट िमलती ह ै, तो छूट की रािश का पता करᘮĀ।

Rs. 50 / 50 㨰Āपये

Rs. 40 / 40 㨰Āपये

Rs. 30 / 30 㨰Āपये

Rs. 20 / 20 㨰Āपये

Correct Answer :­Rs. 30 / 30 㨰Āपय े

13)

Question Stimulus :­

In a certain code language, Zun Tun Lun means Air has smell, Pan Shao Tei means Raman
is smart, and Shao Res Tun means Air is pure, Jut Caz Lim means Don't believe it. Which is
the word for Air in that code language? / िकसी खास कोड भाषा मᘮĀ, Zun Tun Lun का मतलब ह ैAir
has smell, Pan Shao Tei का मतलब ह ैRaman is smart, और Shao Res Tun का मतलब ह ैAir is pure,
Jut Caz Lim का मतलब ह ैDon't believe it | उसी कोड भाषा मᘮĀ Air के िलए ᱆Āा शĀ ह?ै

Tun

Lun



Shao

Zun

Correct Answer :­Tun 

14)

Question Stimulus :­

The triplicate ratio of    is /   का ततृीयक अनपुात है

q3 : p3

p3 : q3

p2 : q2

q2 : p2

Correct Answer :­p3 : q3 

15)

Question Stimulus :­

In a certain code language, Zun Tun Lun means Air has smell, Pan Shao Tei means Raman
is smart, and Shao Res Tun means Air is pure, Jut Caz Lim means Don't believe it. Which is
the word for is in that code language? / िकसी खास कोड भाषा मᘮĀ, Zun Tun Lun का मतलब ह ैAir has
smell, Pan Shao Tei का मतलब Raman is smart और Shao Res Tun का मतलब ह ैAir is pure, Jut Caz
Lim का मतलब ह ैDon't believe it | उसी कोड भाषा मᘮĀ is के िलए ᱆Āा शĀ ह?ै

Tun

Lun

Shao

Zun

Correct Answer :­Shao 

16)

Question Stimulus :­

If DIAGONAL is coded as LANOGAID, how is RECTANGLE coded? / यिद DIAGONAL को
LANOGAID स ेकोिडत िकया जाता ह,ै तो RECTANGLE को कैस ेकोिडत िकया जाता ह?ै



RECTAELGN

ELGNATCER

ATCERNGLE

CERNATELG

Correct Answer :­ELGNATCER 

17)

Question Stimulus :­

A car is running at a speed of 84 km ph. What distance will it cover in 24 seconds? / एक कार 84 िकमी 䐴Āित घटंा की गित
स ेचल रही ह।ै 24 सकेᘮĀड मᘮĀ वो िकतनी दूरी तय करेगी?

500 m / 500मी

560 m / 560 मी

520 m / 520 मी

580 m / 580 मी

Correct Answer :­560 m / 560 मी 

18)

Question Stimulus :­

Find the value of 2P2 / 2P2  का मान िनकािलये

0

2

1

None of these / इनमᘮĀ स ेकोई नहीं

Correct Answer :­2 

19)

Question Stimulus :­

In the sequence shown below, which figure comes next? / नीच ेिदखाय ेगय े樱Āम मᘮĀ, अगली आकृित
कौन सी होगी?



Correct Answer :­  

20)

Question Stimulus :­

If B 940 x 6B8 = 538332C, where B and C are represenĕng numerals; what is the value of ‘C’? / यिद B 940 x 6B8 =
538332C, जहा ंB और C स졋ंĀाकं ह阮Ā; तो ‘C’ का मान ᱆Āा होगा?

3

2

1

0

Correct Answer :­0 

21)

Question Stimulus :­

Which one of the following four addresses is NOT EXACTLY same as the one given below?
/ िन쫳Ā िदयᘮĀ गय ेचार पतो ंमᘮĀ स ेनीच ेिदय ेगय ेपत ेके ठीक समान कौन सा एक नही ंह?ै   



 

Nildram Ltd

Ardenham Court

Oxford Road

AYLESBURY

BUCKINGHAMSHIRE

HP19 3EQ

GREAT BRITAIN  

 

(i) Nildram Ltd

Ardenham Court

Oxford Road

AYLESBURY

BUCKINGHAMSHIRE

HP19 3EO

GREAT BRITAIN  

 

(ii) Nildram Ltd

Ardenham Court

Oxford Road

AYLESBURY

BUCKINGHAMSHIRE

HP19 3EQ

GREAT BRITAIN  

 

(iii) Nildram Ltd

Ardenham Court

Oxford Road

AYLESBURY



BUCKINGHAMSHIRE

HP19 3EQ

GREAT BRITAIN  

 

(iv) Nildram Ltd

Ardenham Court

Oxford Road

AYLESBURY

BUCKINGHAMSHIRE

HP19 3EQ

GREAT BRITAIN

i

ii

iii

iv

Correct Answer :­i 

22)

Question Stimulus :­

Complete the series choosing the missing leĥer/s: / िवलⓃुĀ अꉈĀर चनुकर Āखंला को परूा कीिजए : abc _ d _bc _d _ b _
cda

bacde

cdabe

dacab

decbd

Correct Answer :­dacab 

23)

Question Stimulus :­



7y­5y+y=2y+1, the value of y is / 7y­5y+y=2y+1, तो y का मान है

0

2

1

3

Correct Answer :­1 

24)

Question Stimulus :­

In a certain code language, Please avoid drinking means cor jus nel, Drinking is harmful
means nel cun rem, and Avoid harmful habits means jus ben cun. Which is the word for is
in that code language? / िकसी खास कोड भाषा मᘮĀ, Please avoid drinking का मतलब ह ैcor jus nel,
Drinking is harmful का मतलब ह ैnel cun rem और Avoid harmful habits का मतलब ह ैjus ben cun|
उसी कोड भाषा मᘮĀ is के िलए ᱆Āा शĀ ह?ै

nel

cun

rem

jus

Correct Answer :­rem 

25)

Question Stimulus :­

‘A’ can do a work in 16 days and ‘B’ can do the same work in 12 days, with the help of ‘C’ they did the job in 6
days only. Then in how many days C can alone do the job? / ‘A’ िकसी काम को 16 िदनो ंमᘮĀ कर सकता ह ैऔर ‘B’
उसी काम को 12 िदनो ंमᘮĀ कर सकता ह,ै ‘C’ की सहायता स ेउ䣀Āोनं ेमाĀ 6 िदनो ंमᘮĀ काम को परूा कर िलया। तो C
काम को अकेल ेिकतन ेिदनो ंमᘮĀ कर सकता ह?ै

44 days / 44 िदन

48 days / 48 िदन

52 days / 52 िदन

56 days / 56 िदन



Correct Answer :­48 days / 48 िदन 

26)

Question Stimulus :­

In the following question, one term in the number series is wrong. Find out the wrong
term. / िन쫳Ā 䐴Ā吟Ȁ मᘮĀ, स졋ंĀा Āखंला मᘮĀ एक पद गलत ह|ै गलत पद ṢĀात कीिजय|े  

1,9,25,50,81

1

81

50

25

Correct Answer :­50 

27)

Question Stimulus :­

Two dice are thrown simultaneously. What is the probability of geħng a sum, which is a mulĕple of 2 or 5? / दो पासे
एक साथ फᘮĀके गए। क◌्या सभंावना ह ैउन स졋ंĀायᘮĀ आन ेकी िजसके कुल का गणुा 2 या 5 हो?

25/36

24/36

23/36

22/36

Correct Answer :­22/36 

28)

Question Stimulus :­

Complete the series choosing the missing leĥer/s: / िवलⓃुĀ अꉈĀर चनुकर Āखंला को परूा कीिजए : aba _ baca _ ba _
bacaabac _ aca

cacb

ccab

caba



abcc

Correct Answer :­cacb 

29)

Question Stimulus :­

Complete the series choosing the missing number: / िवलⓃुĀ स졋ंĀा चनुकर Āखंला को परूा कीिजए :

27,23,19,15,______

11

14

12

10

Correct Answer :­11 

30)

Question Stimulus :­

If TRIANGLE is coded as NGLETRIA, how is ‘SAMPLE’ coded? / यिद TRIANGLE को
NGLETRIA स ेकोिडत िकया जाता ह,ै तो ‘SAMPLE’ को कैस ेकोिडत िकया जाता ह?ै

ELPMAS

ELSAM

PLESAM

PLEMAS

Correct Answer :­PLESAM 

Topic:­ Science and Simple Arithmetic
1)

Question Stimulus :­

The ulĕmate source of energy for all living beings is Sun. This solar enegy is trapped by / सभी जीिवत 䐴Āािणयो ंके िलए
ऊजा㸭Ā का परम ꠵ȀोĀ सयू㸭Ā ह।ै सौर ऊजा㸭Ā को िकसके 꺢Āारा पकड़ा जाता ह?ै

Vacuoles in leaves / पि窅Āयो ंमᘮĀ 숝ĀरĀ칀Āकाओ ं꺢Āारा

Chlorophyll pigments / पण㸭Āह숝Āरत वण㸭Āक 꺢Āारा



Leucoplast / अवण쨭Ā लवक 꺢Āारा

Chromaĕn materials / 樱Āोमिैटन पदाथ㸭Ā 꺢Āारा

Correct Answer :­Chlorophyll pigments / पण㸭Āह숝Āरत वण㸭Āक 꺢Āारा 

2)

Question Stimulus :­

The gravity of the moon to that of the earth is / चादं का प쒒ृĀी की अपꉈेĀा ग㨰ुĀĀ है

1/4th

1/6th

1/8th

1/16th

Correct Answer :­1/6th 

3)

Question Stimulus :­

The interest on a certain deposit at 4.5% p.a. is Rs. 202.50 in one year. How much will the addiĕonal interest in one
year be on the same deposit at 5% p.a. / एक जमा धनरािश पर 4.5% 䐴Āित वष㸭Ā 껥Āाज की दर स ेएक वष㸭Ā मᘮĀ 껥Āाज 202.50
㨰Āपय ेह।ै एक वष㸭Ā मᘮĀ 5% 䐴Āित वष㸭Ā 껥Āाज की दर स ेउसी जमा रािश पर िकतना अित숝Āर칀Ā 껥Āाज हो जाएगा?

Rs. 20.25

Rs. 225

Rs. 250

Rs. 22.5

Correct Answer :­Rs. 22.5 

4)

Question Stimulus :­

The following pie ‐ chart shows the percentage of students passed in an examinaĕon from different parts of the
country in 1999. / नीच ेिदया गया पाई चाट㸭Ā 1999 मᘮĀ दशे के िविभ㚺Ā भागो ंमᘮĀ आयोिजत परीꉈĀाओ ंमᘮĀ उ窅Āीण㸭Ā छाĀो ंका
䐴Āितशत दशा㸭Āता ह।ै



The following graph shows the percentage of students who passed their graduation
(freshers) in 1999. / नीच ेिदया गया 츱Āाफ उन छाĀो ंका 䐴Āितशत दशा㸭Āता ह ैिज䣀Āोनं ेअपनी 怸Ȁातकता (怴Āशस㸭Ā)  1999
मᘮĀ उ窅Āीण㸭Ā की ह।ै

If in 1999 the total number of passed from WB was 160, then how many non – fresher candidates passed the exam
from others? / यिद 1999 मᘮĀ पिȀम बगंाल स ेकुल उ窅Āीण砯Ā की स졋ंĀा 160 थी, तब दूसरे रा쩤Āो ंस ेपरीꉈĀा मᘮĀ उ窅Āीण㸭Ā गरै
怴Āशर उĀीदवारो ंकी स졋ंĀा िकतनी होगी?

1398

1588

1608

1408

Correct Answer :­1408 

5)

Question Stimulus :­

If l and m are intersecting lines, l is parallel to another line p and m is parallel to another
line q, then / यिद l और m 䐴Āित챝Āदेी रेखाएं ह阮Ā, l एक अ삾Ā रेखा p के समातंर ह ैऔर m कोई रेखा q के समातंर ह ैतो

p and q are also intersecting lines / p और q भी 䐴Āित챝Āदेी रेखाएं ह阮Ā

p is parallel to q / p, q के समातंर है

l, p, q are concurrent lines / l, p, q सगंामी रेखाएँ ह阮Ā



l, m, q are concurrent lines / l, m, q सगंामी रेखाएँ ह阮Ā

Correct Answer :­p and q are also intersecting lines / p और q भी 䐴Āित챝Āदेी रेखाएं ह阮Ā 

6)

Question Stimulus :­

The separation of the grain seeds from the chaff is called   / अनाज के बीजो ंका भसू ेस ेपथृ︼Āरण
कहलाता है

Threshing / ᰳĀिेशगं

Weeding  / छँटाई करना

Winnowing  / फटकना

Harvest combine / स䡁Ȁ सयं칀ुĀ

Correct Answer :­Winnowing  / फटकना 

7)

Question Stimulus :­

143% of 1985 =?  1900 / 1985 का 143% =?  1900

1

1.2

1.494

2.494

Correct Answer :­1.494 

8)

Question Stimulus :­

______________statement among the following is false. / िन쫳ĀिलĀखत मᘮĀ स े______________ त鈁� अस᲋Ā ह।ै

There is no fraction that cannot be represented as a rational number / कोई ऐसा िभ㚺Ā नही ंह,ै िजसे
प숝Āरमये स졋ंĀा के 搰Āप मᘮĀ िन㨰Āिपत नही ंिकया जा सकता।

A decimal number cannot be a rational number / एक दशमलव स졋ंĀा प숝Āरमये स졋ंĀा नही ंहो सकती।

All negative numbers can be represented as rational numbers / सभी ऋणा낊Āक स졋ंĀाएँ प숝Āरमये स졋ंĀा के
搰Āप मᘮĀ िन㨰Āिपत की जा सकती ह阮Ā।



There is no integer that cannot be represented as a rational number / कोई ऐसा पणूाꐭĀक नही ंिजस ेप숝Āरमये
स졋ंĀा के 搰Āप मᘮĀ िन㨰Āिपत नही ंिकया जा सकता।

Correct Answer :­A decimal number cannot be a rational number / एक दशमलव स졋ंĀा प숝Āरमये स졋ंĀा
नही ंहो सकती। 

9)

Question Stimulus :­

Identify the alloy from the list given below. /  नीच ेदी गई सचूी स ेिमĀात ुको पहचाने

Galvanised Iron / ज捀 कार लोहा

916 gold / 916 सोना

Blue vitriol / नीला थोथा

Tinned Iron / कलईदार लोहा

Correct Answer :­916 gold / 916 सोना 

10)

Question Stimulus :­

A parallelogram, which has adjacent sides perpendicular to each other is called a ____________ / एक
समातंर चतभु㸭ुĀज, िजसकी आस㚺Ā भजुाएं एक दूसरे के लबंवत ्ह阮Ā कहलाता ह ै___________

Rectangle  / आयत

Rhombus / समचतभु㸭ुĀज

Trapezium / समलĀ

Square / वग㸭Ā

Correct Answer :­Rectangle  / आयत 

11)

Question Stimulus :­

The following pie ‐ chart shows the percentage of students passed in an examinaĕon from different parts of the
country in 1999. / नीच ेिदया गया पाई चाट㸭Ā 1999 मᘮĀ दशे के िविभ㚺Ā भागो ंमᘮĀ आयोिजत परीꉈĀाओ ंमᘮĀ उ窅Āीण㸭Ā छाĀो ंका
䐴Āितशत दशा㸭Āता ह।ै



The following graph shows the percentage of students who passed their graduation
(freshers) in 1999. / नीच ेिदया गया 츱Āाफ उन छाĀो ंका 䐴Āितशत दशा㸭Āता ह ैिज䣀Āोनं ेअपनी 怸Ȁातकता (怴Āशस㸭Ā)  1999
मᘮĀ उ窅Āीण㸭Ā की ह।ै

If there is an increase of 10% and 20% candidates from Bihar and Others in the year 2000 respecĕvely, and the number
of total passed candidates from Orissa in 1999 was 77, what would be the approximate total passed candidates from
Bihar and Others in 2000? / यिद वष㸭Ā 2000 मᘮĀ िबहार और अ삾Ā रा쩤Āो ंके उĀीदवारो ंकी स졋ंĀा मᘮĀ वृĀ岚Ā 樱Āमश 10
䐴Āितशत एव ं20 䐴Āितशत Āई ह,ै और वष㸭Ā 1999 मᘮĀ उड़ीसा स ेकुल उ窅Āीण㸭Ā उĀीदवारो ंकी स졋ंĀा 77 थी, तब वष㸭Ā 2000 मᘮĀ
िबहार और दूसरे रा쩤Āो ंस ेकुल उ窅Āीण㸭Ā उĀीदवारो ंकी स졋ंĀा लगभग िकतनी होगी?

210

480

450

500

Correct Answer :­500 

12)

Question Stimulus :­

Find the area of the semicircle, which has a diameter of 14 cm. / उस अध㸭Āवतृ का ꉈĀेĀफल ṢĀात कीिजए, िजसका 帘Ȁास
14 समेी ह।ै

49 cm2 / 49 समेी 2

22 cm2 / 22 समेी 2



154 cm2 / 154 समेी 2

77 cm2 / 77 समेी 2

Correct Answer :­77 cm2 / 77 समेी 2 

13)

Question Stimulus :­

Two Forces of magnitude 100 N & 50 N act on an object in the same direcĕon. The magnitude of the resultant force is
/ दो 100 삾Āटून और 50 삾Āटून प숝Āरमाण के बल एक व捀  ुपर समान िदशा मᘮĀ काय㸭Ā करत ेह阮Ā| प숝Āरणामी बल का
प숝Āरमाण है

5 N / 5 삾Āटून

50 N / 50 삾Āटून

100 N / 100 삾Āटून

150 N / 150 삾Āटून

Correct Answer :­150 N / 150 삾Āटून 

14)

Question Stimulus :­

During inhalation, the ribs / अतं:䒄Ȁ वसन के दौरान, पसिलयाँ

Move outwards / बाहर की ओर जाती ह阮Ā

Move inwards / अदंर की ओर आती ह阮Ā

Move upwards / ऊपर की ओर जाती ह阮Ā

Move upwards and inwards / ऊपर और अदंर की ओर जाती ह阮Ā

Correct Answer :­Move outwards / बाहर की ओर जाती ह阮Ā 

15)

Question Stimulus :­

The following pie ‐ chart shows the percentage of students passed in an examinaĕon from different parts of the
country in 1999. / नीच ेिदया गया पाई चाट㸭Ā 1999 मᘮĀ दशे के िविभ㚺Ā भागो ंमᘮĀ आयोिजत परीꉈĀाओ ंमᘮĀ उ窅Āीण㸭Ā छाĀो ंका
䐴Āितशत दशा㸭Āता ह।ै



The following graph shows the percentage of students who passed their graduation
(freshers) in 1999. / नीच ेिदया गया 츱Āाफ उन छाĀो ंका 䐴Āितशत दशा㸭Āता ह ैिज䣀Āोनं ेअपनी 怸Ȁातकता (怴Āशस㸭Ā)  1999
मᘮĀ उ窅Āीण㸭Ā की ह।ै

If the non‐fresher candidates from UP in 1999 was 60, how many candidates passed the exam from all parts of the
country? / यिद उ.䐴Ā के गरै 怴Āशर उĀीदवारो ंकी स졋ंĀा वष㸭Ā 1999 मᘮĀ 60 थी, तब दशे के सभी भागो ंस ेकुल िकतने
उĀीदवारो ंन ेपरीꉈĀा को उ窅Āीण㸭Ā िकया?

500

300

350

450

Correct Answer :­500 

16)

Question Stimulus :­

The following pie ‐ chart shows the percentage of students passed in an examinaĕon from different parts of the
country in 1999. / नीच ेिदया गया पाई चाट㸭Ā 1999 मᘮĀ दशे के िविभ㚺Ā भागो ंमᘮĀ आयोिजत परीꉈĀाओ ंमᘮĀ उ窅Āीण㸭Ā छाĀो ंका
䐴Āितशत दशा㸭Āता ह।ै



The following graph shows the percentage of students who passed their graduation
(freshers) in 1999. / नीच ेिदया गया 츱Āाफ उन छाĀो ंका 䐴Āितशत दशा㸭Āता ह ैिज䣀Āोनं ेअपनी 怸Ȁातकता (怴Āशस㸭Ā)  1999
मᘮĀ उ窅Āीण㸭Ā की ह।ै

If in 1999 the total passed candidates from different parts of the country was 650, then
how many non fresher candidates from Bihar passed the examination in 1999? /  यिद 1999
मᘮĀ दशे के िविभ㚺Ā भागो ंस ेकुल उ窅Āीण㸭Ā उĀीदवारो ंकी स졋ंĀा 650 थी, तब िबहार स े1999 मᘮĀ िकतन ेगरै 怴Āशर उĀीदवारो ंने
परीꉈĀा उ窅Āीण㸭Ā की ह?ै

200

195

198

204

Correct Answer :­198 

17)

Question Stimulus :­

If the amplitude of a sound wave is doubled , how does it affect the intensity of the wave? / यिद 檦Āिन तरंग के
आयाम को दोगनुा कर िदया जाए तो यह तरंग की ती㸶Āता को िकस तरह 䐴Āभािवत करता ह?ै

Intensity gets doubled / ती㸶Āता दोगनुी हो जाती है

Intensity remains the same / ती㸶Āता वसैी ही रहती है

Intensity becomes 4 times / ती㸶Āती 4 गनुी हो जाती है



Intensity gets Halved / ती㸶Āता आधी हो जाती है

Correct Answer :­Intensity becomes 4 times / ती㸶Āती 4 गनुी हो जाती ह ै

18)

Question Stimulus :­

If  , then x is equal to ________ / यिद  तो x ______ के बराबर ह।ै

‐9

1/9

‐6

‐8

Correct Answer :­1/9 

19)

Question Stimulus :­

AB is a tangent to a circle with centre O at a point P and OP is the radius through P.  Then
___________. / एक वतृ िजसका कᘮĀ帳Ā O ह ैउसके िबदं ुP पर AB एक 瘸Ȁश㸭Ā रेखा ह,ै िबदं ुP स ेO तक OP वतृ की
िĀ쩤Āा ह ैतो _____________

OP || AB

OP AB

OA PB

OB || AP

Correct Answer :­OP AB 

20)

Question Stimulus :­

is a __________  /  एक _________  है

Raĕonal number / प숝Āरमये स졋ंĀा

Whole number / पणू㸭Ā स졋ंĀा



Natural number / 䐴Āाकृितक स졋ंĀा

Irraĕonal number / अप숝Āरमये स졋ंĀा

Correct Answer :­Raĕonal number / प숝Āरमये स졋ंĀा 

21)

Question Stimulus :­

The nature of the image formed by a plane mirror is / एक समतल दप㸭Āण 꺢Āारा िनिम㸭Āत 䐴Āितिबबं की 䐴Āकृित होती ह ै:

Virtual / आभासी

Erect / ऊ灦Ȁव㸭Ā­शीष쨭Ā

Laterally inverted / पाि≠ 㸭Āक अधोशीष쨭Ā

All the above / उपरो칀Ā सभी

Correct Answer :­All the above / उपरो칀Ā सभी 

22)

Question Stimulus :­

Telephone wires sag in summer due to / गिम㸭Āयो ंमᘮĀ टलेीफोन के तार आनमन हो जात ेह阮Ā इसका कारण ह ै:

Excess of heat / ऊⴂ�ा की अिधकता

Expansion due to heat / ऊⴂ�ा के कारण 䐴Āसारण

Faulty fixing / दोषपणू㸭Ā Ā슄Ȁथरण

Wear and tear / टूट­फूट

Correct Answer :­Expansion due to heat / ऊⴂ�ा के कारण 䐴Āसारण 

23)

Question Stimulus :­

Ozone hole is  the result of  excessive / ओजोन िछ帳Ā िकसकी अिधकता के प숝Āरणाम स ेहै

Burning of coal / कोयल ेके दहन से

Pollution due automobiles / Ȁचािलत वाहनो ं꺢Āारा 䐴Āदूषण से

Use of CFC / सीएफसी के उपयोग से



Burning of firecrackers / पटाखो ंके दहन से

Correct Answer :­Use of CFC / सीएफसी के उपयोग स े

24)

Question Stimulus :­

The organisms that take in readymade food prepared by the plants are called  / व ेजीव जो पौधों
꺢Āारा िनिम㸭Āत भोजन 츱Āहण करत ेह阮Ā, कहलात ेह阮Ā

Auto trophs / Ȁपोषी

Chemo autotrophs  / रसोȀपोषी

Heterotrophs / परपोषी

Insecĕvorous plants / कीटहारी पादप

Correct Answer :­Heterotrophs / परपोषी 

25)

Question Stimulus :­

The food synthesized by the plants is stored in the form of / पौधो ं꺢Āारा स鰤ंȀिेषत भोजन िन쫳Ā 搰Āप मᘮĀ सिंचत रहता है

starch / मडं

sugar / चीनी

protein / 䐴Āोटीन

water / जल

Correct Answer :­starch / मडं 

26)

Question Stimulus :­

The following pie ‐ chart shows the percentage of students passed in an examinaĕon from different parts of the
country in 1999. / नीच ेिदया गया पाई चाट㸭Ā 1999 मᘮĀ दशे के िविभ㚺Ā भागो ंमᘮĀ आयोिजत परीꉈĀाओ ंमᘮĀ उ窅Āीण㸭Ā छाĀो ंका
䐴Āितशत दशा㸭Āता ह।ै



The following graph shows the percentage of students who passed their graduation
(freshers) in 1999. / नीच ेिदया गया 츱Āाफ उन छाĀो ंका 䐴Āितशत दशा㸭Āता ह ैिज䣀Āोनं ेअपनी 怸Ȁातकता (怴Āशस㸭Ā)  1999
मᘮĀ उ窅Āीण㸭Ā की ह।ै

If total passed candidates from UP in 1999 was 112, what is the ratio between the number
of freshers from Bihar and that of non ­ freshers from Orissa? /  यिद 1999 मᘮĀ उ 䐴Ā स ेकुल उ窅Āीण㸭Ā
उĀीदवारो ंकी स졋ंĀा 112 थी, तब िबहार स े怴Āशरो ंकी स졋ंĀा और उड़ीसा स ेगरै 怴Āशरो ंकी स졋ंĀा के बीच का अनपुात ᱆Āा
होगा?

760 : 187 / 760 : 187

187 : 760 / 187 : 760

40 : 11 / 40 : 11

None of these /  इनमᘮĀ स ेकोई नही।ं

Correct Answer :­None of these /  इनमᘮĀ स ेकोई नही।ं 

27)

Question Stimulus :­

Stomata are the pores surrounded by the guard cell in the leaves . They do the funcĕon such as / पि窅Āयो ंमᘮĀ Ȁोमटेा
िछ帳Ā होत ेह阮Ā जो 꺢Āार कोिशका स ेिघरे रहत ेह阮Ā। व ेिन쫳Ā काय㸭Ā करत ेह阮Ā

Exchange of gases / गसैो ंका िविनमय

Photosynthesis / 䐴Āकाश स鰤ंȀषेण

Transpiraĕon / वा눬Ȁो劍Āज㸭Āन



All the above funcĕons / उपरो칀Ā सभी काय㸭Ā

Correct Answer :­All the above funcĕons / उपरो칀Ā सभी काय㸭Ā 

28)

Question Stimulus :­

Leela observed that a pond with clear water was covered  with green algae within a week.
By which method of reproduction did the algae spread so rapidly? / लीला न ेअवलोकन िकया िक
साफ पानी का एक तालाब एक सⓃĀाह के भीतर ही हरी शवैाल स ेढक जाता ह|ै जनन की िकस िविध 꺢Āारा शवैाल इतनी तजेी
स े䐴Āसा숝Āरत Āए?

Budding  / मकुुलन

Fragmentation   / िवखडंन

Spore formation   / बीजाण ुगठन

Fission / िवभाजन

Correct Answer :­Fragmentation   / िवखडंन 

29)

Question Stimulus :­

It is instructed not to join the  free ends of a tester for more than a few seconds because
otherwise / य ेिनद䘮Āश िदया जाता ह ैिक परीिꉈĀĀ के खलु ेिसरो ंको कुछ सके桿Ā स ेअिधक नही ंजोड़ा जाए ᱆Āोिंक वरना

the connecĕon wire will get burnt / सयंोिजत तार जल जायᘮĀगे

the cells of the baĥery will get drained very quickly / बटै縭Āी का 䐴Āको㸫Ȁ बĀत ज�Ȁी खाली हो जाएगा

the bulb of the tester will get fused / परीिꉈĀĀ का ब鐍Ȁ 黖Āज़ू हो जाएगा

the baĥery will get heated / बटै縭Āी गम㸭Ā हो जाएगी

Correct Answer :­the cells of the baĥery will get drained very quickly / बटै縭Āी का 䐴Āको㸫Ȁ बĀत ज�Ȁी खाली हो
जाएगा 

30)

Question Stimulus :­

The maximum value sin   can take, when   is an acute angle is _________.  / यिद    एक

삾Āनूकोण ह,ै तब sin    का अिधकतम मान ल ेसकत ेह阮Ā ___________

1



0

2

­1

Correct Answer :­1 


